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A lte rnating Se riesTestandA bsolute Com p arison Test

1.W hatdo the following se rieshave in com m on?

1¡ 2 + 3¡ 4+ 5¡ 6 + ¢¢¢ 1=1¡ 1=2 + 1=3 ¡ 1=4+ ¢¢¢ ¡1=12 + 1=2 2 ¡ 1=32 + 1=42 ¡ ¢¢¢

Se riesofthistyp e a re called .

2 .W hich ofthe following se riesisalte rnating?
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The o r e m
Ifin an alte rnating se ries,a1¡a2 +a3 ¡a4+ ¢¢¢,both ofthe following conditionshold,the n the se ries
conve rge s.
1.E ach te r m hassm alle r m agnitude than the p re viousone,i.e.,ak+1< ak.
2 . lim

k! 1
ak = 0.

3.For e ach ofthe se riesabove thatisalte rnating,dete r m ine w hich,ifany,ofthe two conditionsofthe
the o r e m hold.W hich se riesconve rge,andwhich dive rge ?
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A bsolute R atio Test
For any in n̄ite se ries
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IfL >1or ifjak+1=akjdoesnote xist,the n
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IfL = 1the testisIN CO N CLUSIV E.

Gr o up W o r k
Let'suse the absolute ratio teston the following se riesto testsfor conve rge nce
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